
 

����� 2 

�������	���
���� 
 

2.1  ��
��������������� 

   �����������	
�	��
��������� �������������������������
   ������� �!"�	����	
 ��#
���$�� %&�	'�(�)'�'*#+,�&��
'- 
 

  2.1.1 ��
��������������������
��������	�	�����	����������!"�#$���% (Aggregate 

Demand) 

   ���$��*	.��
�����	��$�/
�������&�
�#�,	'���$��*	0�-
0.���������	0.����$���
!���&&��� ��0.��Keynesian Model �1. 
 

    Y = C + I + G + ( X  -M ) 
 

%&��'*�          Y  = ���2&,���+�+�����1.������	����	 ��#
���$���(GDP) 

   C  = ���#+,����$�1*.���3��% �0.�����$�1.
 

   I    = ���#+,����$�1*.�������
0.�$.�+
 

   G  = ���#+,����0.���43�� 

   X  = ���
��..� 

   M  = ���
��$0,� 
   &��
�-
���������	$��*	.��
�����	 ���'�
�*� �5�1.���������	$��*	���#+,����0.�
��43����
   �33����.�.��������0.�$�

��#
��!'��33$���4����6&	' ����43����1. 

      AD = Y = C + I + G  

      C = Ca + By 

      I = Ia + iY 
 

%&��'*�  Y =����2&,���+�+��� 
    C =����3��% � 

    I =�������
 



8 

    G =���#+,���� ����33�� 

    b = MPC (Marginal Propensity to Consume) 

    i = MPI  (Marginal Propensity to Invest) 

   ���
	����'*�1������43��$��*	���#+,�������	'�����#�,�������
$��*	0�-
�7�*���
����
#�,���2&,���+�+���$��'*�
����$��*	0�-
��	2�&,�� 

   �C = b.�Y 

   �I  = i.�Y 

��
�����C ,�I , �G�#

	����'*�1���2&,
	����Y�#�	���������$��*	���#+,���� 

   �Y = b�Y + i�Y + �G 

   �G = �Y - b�Y - i�Y 

     �Y =         1       =    1  

   �G      1 – b – I      1 - MPC - MPI 

               

 

����
&#�,� g = ��������'���#+,���� ����43�� 

   g =    1   = 

        1 - MPC – MPI     �G 

�Y 

   Y = g�G 
    

����
	����'*� 7 ���
���2&,����8,� ����43��#+,����$��*	0�-
���
������.���$��*	0�-
0.����2&,
���+�+���%&����
��������
0.������' 

   

2.1.2 ���"�����������	��$ (Wagner’s Law of increasing state activities) (.,��#
�
$����$�'���������9
�$
�'���	, 2538) 

.&.���:����$
.����(Adoloph Wagner) 2&,,�����������8��3�3��$�'*����3���#+,����
0.���43��$�.�	�
������������
�������,���������-�$�/
�)$�'*����3���0���3�3��0.���43��
$�'�������Law of Increasing State Activities ��1.�'*$�'����
�����“Wagner’s Law” 7�*�#
�)0.����
$
.��
�-
2&,,������2�,,���8,�#
��33$���4����'*��4	'������	&,,�
$���4���	������#+,����0.���4�5��
	'3�3��#
��33$���4���	��0�-
&,,��$+��
��
� 

���%&�#
��������0.����$
.��
�-
�2&,��������������#+,����0.���4..�$�/
�4 

�	�&#�;����1.� 
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1.  ����<.���
���$��������������	
�3 ��#
���������&��$3'�30.�
���	�

�-
���	'���0���0.30���0.� ��������
��,��0���0�-
����������	��0�-
���-�
'-$
1*.����$���4���
���
���	2&,,$���;$��3%�	��0�-
�����.3��3��&�3����
�
�,�����=�
�-
	'�������0�-
.������.
$
1*.��&��
�-
����#+,,����0.���43�����$�//
�'*��,�,.�$��*	0�-
.������'*2	�
�	��8��'�$�'*��2&,,� 

2. ���3�������
��*�2�0.���43�������&�3�7�*�	����0���#�;��0�-
.��������.$
1*.�����
#�,,��43���,.�����3�����#�	��=�$�1*.

.��.3���	�,.����0.����+�+
�'*$��*	0�-
���$��&0�-

#�	����	
 ��
���	$���4����'*$��'*�
����2��$+�
��� 4�,.�#�,
��
&����������+�+
	��0�-
�
��1.���,,.�$0,�	���,,20�>>;�������=�#

���		��0�-
$�//
�,,
� 

3. �����9
�$���4���0.����$���$
1*.������4���,,.�$0,,�2�&��$
�
�����9
���33

����!?�% �����=�0.����$��$�1*.�.���3���0���������$���4����7�*����#�,$���4���
 ����43��0���#�;��0�-
� 

4. �>>����.1*
=�.'�	���'*��4���,.�0���3�3����������
0.��
�$+�
����$��*	0�-

0.����+����������'*���+�+
.���$0,� 	�.�?��#
$	1.�	��0�-
���������0.����+
+��2���
$�/
�,
� 

7�*���-��4 �	�&&��������
�-
��$�5
2&,,������$��*	0�-
��	���0���������$���4���0.�
���$���'*$��*	0�-
��7�*��	�����	������>>�����'*����
&��� #+,����0.� ����4��5�1.����� �!"��	����	
���+�+����(GDP) ��1.���0���������$���4���0.����$��
�*
$.��� 

&��
�-
8,,����
���
���&0.��Wagner 	�$0'�
#
�?�0.�:>>����+�*
����!����
�������
2&,����� 

     G = f (GDP)  

%&��'*�                G       =   ���������0.���43��� 

         GDP     =   ���� �!"��	����	���2&,���+�+������+�+��� 
 

2.1.3  ���������	
����
����
��������� (.,��#
�$����$�'���������9
�$
�'���	, 

2538) 

2�
��	
����'�5.�2&,��������������#+,����0.���43��.���(�#
���������.�. 

1890 -1955 %&�2&,#�,0,.
��$���'*
����;$�'*����3���#+,����0.���43�������������
����!�0.�
��43��
�-
	�2&,$��*	0�-
��.&$���.������3�1*
����	����	'�
�%
,	���$��*	0�-
��,��0�-
3�
2&�7�*�
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��,����$������!��'*	�����3�
����$��*	0�-
&�������
�-
��
�%
,	���$��*	0�-
0.��������

����!�.��������
�+���0.����$��'*�
�����%&�.�������&�3$�/
0�-
�.
0.����
$��'*�
����2&,&��
'- 

1.+�����&�3���#+,����0������
?�0�-
�$	1*.�����!�8���
�%
,	0.����#+,�������
�����&$�53 ��'.�����1.���2&,0.���43����,��������@���3��+�������$�����������������2&,
0.���43����.�?�#
����!�2&,
�&
��
��
����$��*	0�-
0.���������'*
�	��8���3���.����2&,
�&
��

��3���2&, ��'.���
�-
�.����$�'��2&,���$�/
+����'*��&�3�������0��3���
?�0�-
��1.� displacement 

effect .����2��5��	��&�3�������0.���43��	'�
�%
,	�'*��0��3���
?�0�-
��.&$���������43��
���,.������	�����$��*	���2&,#�,�.$�'����3��������'*$��*	0�-
 

2.+���0.��������
.3���#+,�����$	1*.��&�3���#+,����0.���43��2&,.�?�#
+����'*	'
��&�30��3���.�?������
�*���,�����$��'*�
����0.��>�������
���	$���4��� ��	'$������#�,���#+,
����0.���43��$��*	0�-
��&$�5��������$��*	0�-
0.����2&, ��'.����7�*����#�,$��&�>;�����0�&&��
����������0.���43������#�,�,.�	'�������
.3��1.�3��

%�3��$�'*����3���#+,����������
��&$�53 ��'.���0.���4�7�*�.����$�'�����+���0.��������
.3���#+,������1.� inspection effect 

������1.���,.�	'����3��
��1.��&�.
�������0.���43��$�1*.#�,
.&��,.���3���2&,��43�� 

3.+���0.���&�3 ��'�'*�.	��3�$	1*.��&�3���#+,����0.���43��$��*	0�-
��&$�5�����
���2&, ��'.�������#�,$��&�>;�����0�&&��������������,����-���43��������+�+
�5�����	��

�3��
����
%�3�����#+,������������&$�53 ��'.���$
'�#�	��$�1*.#�,$�	��
	��1.
.&��,.�
��3
 ��
���	$���4����'*2&,$��'*�
����2��#
����3��

%�3��$�'*����3���2&,������#+,����
&�������
�-
�
.������2&,	'����3��

%�3�����#+,������,���5	����2&,	'������3�������
��&$�53 ��'$��*	0�-
#
��&�3�'*���+�+

��
#�;��.	��32&,�7�*�.��$�'�����+���0.���&�3 ��'�'*
�.	��3���1.� tex tolerance ������1.���+�+

��
#�;����.	#�,��43��$�53 ��'$��*	0�-
�$�1*.#�,
�.$�'����3��������'*���$�/
0.���43���'*$��*	0�-
 

4.���$��*	3�3��0.���43�������2�
��	
����'�5.�������������!����#+,����
0.���43����$��'*�
����2���	���&�30�-
�'*�����	�
�-
�7�*�#
���$��'*�
���������#�,��43��
����	'3�3��$��*		��0�-
$�1*.���'*$�'������ concentration effect �$0�2&,+'-#�,$�5
#
��!'0.����$��
.���(��'*$0�2&,�����������
�-
����@���3�3�����&,�
���#+,����0.���43��������$��*	0�-
$�1*.��

��
3�3��0.���43���,.�8�*
���&���	
����;�� 
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2.1.4  ���������	
�����	��� (.,��#
�$����$�'���������9
�$
�'���	, 2538) 


��$���4��
��+��.���(��+1*.�.��
��������( Colin Clark ) 2&,��������������#+,
����0.���43��.���(�#
+����������
����	%�����-��'*�
�*�������-��'*
.�����2&,��-�0,.

		��4�
�'*$�'������The Critical-limit Hypothesis %&�2&,0,.
���2�,��� 

$	1*.���0���3�3�����$���4���0.� ����43��%&���&��� ��'������2&,.1*
=
0.���43���$	1*.	'.����
��
$��
�����,.����25 0.����2&,���+�+�����1.0.��������.3������	
$��4���%&�
��
��	��,������#�,$��&$��
$:<.����������������?�#�#
��������
0.����+�+
�
$
1*.�������+�+
8?���4$�53 ��'.�����
�� 

��	���	��&$�5
0.�������
�-
�8,���43��0���3�3��0.��
$��
�����,.����25 

0.��������.3������	$���4���%&�
��
��	��,����.	�����#�,$��& ���$��
$:<.�
�
.
�
8���	,�����43����#+,���'�3���	�!
	&���5��	���-�
'-$
1*.�������$�53 ��'.�����
��0.���43����
2�����������?�#�#
��������
0.����+�+
�7�*�������#�,�������
�
�,����3�����8?����&��-����
���#
0!�$&'����
���#+,����0.���43��
�-
�5�������,
#�,$��&$��
$:<. 

.����2��5��	��
���&0.�������
�-
2	���.�2&,��3����.	��3#
����+��������
$���2�
��$��������@���#
����'*$�/
����
�-
��������$���'*��43��2&,0���3�3��0.��
$��

�����,.����25 0.��������.3������	$���4���%&�
��
��	�����5	�2&,$��&$��
$:<..������
����

 

2.1.5 ��
��������#���&$����'*�	������*�%(Time Series Data Analysis) 

����������$������0,.	?�.
���	$����( Time Series Data)  	'$�1*.
20���0,.	?��'*
��	������
���,.�	'����!�
�*���( Stationary) %&��,.��&
.3���$A�'*��( Mean) ����������	������

(Variance) ���2	�	'���	������
2���	$����.�
��
����#�,$��&$�/
���	
�	��
��0.�
	���
8&8.��'*2	���,�����( Spurious Regression) 
��2�
?����
��������	
�	��
���'*2	�8?��,.�����
�&
.3���0,.	?�2	�	'���	
�*��( Non - Stationary Test) 
��$��#
$31-.��,
2&,������
8���� t 	'���	���
������������2	�$�/
2��33	���4�
, ����R2

�>;�����	2	�
�*��( Non – Stationary)  0.�0,.	?�����,.��&
.3�����.�
&�3
���	
�	��
��0.�0,.	?��(Order of Integration) ��,��������Differencing 0,.	?�����������.
�'*��

��������&�������	������	
�	��
��$�1*.��'�$�'*���>;�����	
�	��
��0.�
	���8&8.��'*2	�

 	'���
?�, ���
8��� Durbin Watson (DW) Statistic 	'
����*����
&�8���>;��� Autocorrelation ���$�/
�������'*���.	��3�?��33
	���2&,#
���
$���4��
����(Enders, 1995) ����(Johnston and Dinardo, 1997) 
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��,�����( Spurious Regression)  ��������������$�����������	
�	��
��$+��&��� ����������
(Cointegrating Relationship) %&�2	��,.��������Differencing�0,.	?� 

0,.	?�.
���	$����'*	'����!�
�*�  (Stationary) �	��8��  0,.	?�.
���	$���	'
 ��
0.����
	&��$+��
8����( Statistic Equilibrium) �1.�����'*0,.	?�2	�	'���$��'*�
����$	1*.$���
$��'*�
2� �
&�2&,&��
'- 

1. ����
&#�, xt, xt+1, xt+2,……..., xt+k

2. ����
&#�,�x

 $�/
0,.	?�.
���	$����'*$���  t, t+1, t+2, 
…. , t+k 

t+m, xt+m+1, xt+m+2,……..., xt+m+k

3. ����
&#�,�P(x

 $�/
0,.	?�.
���	$����'*$���  
t+m, t+m+1, t+m+2, …. , t+m+k 

t, xt+1, xt+2,……..., xt+k) $�/
������������	
����$�/
���	

0.��xt, xt+1,  xt+2, .... , x

4. ����
&#�,�P(x
t+k 

t+m, xt+m+1, xt+m+2,……..., xt+m+k) $�/
������������	


����$�/
���	0.��xt+m, xt+m+1, xt+m+2,……..., x
 

t+m+k 

���0,.����
&��-��4 0,.&����������$�/
.
���	$����'*	'����!�
�*��5��.$	1*. 
 

P(xt, xt+1, xt+2,..., xt+k)     =     P(xt+m, xt+m+1, xt+m+2,……..., xt+m+k
 

) 

%&�����3���� P(xt, xt+1, xt+2,..., xt+k) 	'���2	�$�����3  P(xt+m, xt+m+1, 

xt+m+2,……..., xt+m+k

 

) ��
���2&,���0,.	?�.
���	$���	'����!�2	�
�*�  (Non-Stationary) 7�*�#

����&
.3��������!����
�	���
����B#
���$.�  (Autocorrelation Coefficient Function : ACF) 

��	�33����.�0.�3.�-$�
��

�  (Box-Jenkins Model) 7�*�����3��� � �'*2&,�����������!����

�	���
����B#
���$.�
�-
 	'���#��,�1�	�� =���
����#�,��������!��'*����ACF �'*2&,2	��
�
.
  &��
�'-�- :?�$�.���( Dickey-Fuller) �����9
����'�������
.30,.	?�.
���	$������	'����!�
�*� ��1.2	��
&,�������� Unit Root Test 

1)  �����"��#���	����������'* �������+�%Unit Root Test 

���$
1*.����0,.	?��'*$��
��	������
�-
$�/
0,.	?�.
���	$�����������$�/
�,.�������
�&
.3  Unit Root Test�$�1*.#�,���3���0,.	?�.
���	$����'*
��	���$������
�-
	'���	
�*��
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(Stationary) ��1.2	�
�*��(Non - Stationary) 
		������������
�*�=�(x) $�/
�Unit Root ��,� �5$�����3
$���3���������
�-
2	�
�*�  ����'�&
.3	'�������'
.�$�
1.������'0.�� Dicky - Fuller (DF) ����
Augmented Dicky - Fuller (ADF) ��,����	'���'�'*���3������������&
�
#��( Decision Tree) $

.
%&��Holden and Perman ���
��	�#+,%&� (Mukherger) #
�'*
'-$����$

.���'�&
.3�'*��������
�1.�Dicky - Fuller (DF) ����Augmented Dicky - Fuller (ADF) &����.2�
'- 

����&
.3�Unit Root �'*#+,����&
.3�33�Dicky-Fuller (DF) (Dicky and Fuller, 

1979)�������&
.3�33�Augmented Dicky-Fuller (ADF) (Said and Dicker, 1984) 
�-
	'

		���4�
���� (Null Hypothesis) 0.�����&
.3�DF (DF Test) ���
	��� 

   xt    =    � xt-1+ �t
%&��'*

     (2.1)  

xt , xt-1

�

�1.  0,.	?�.
���	$���0.�������.�
���!�$��� t ����t-1 

t
�  �1.  
�	���
����B.��
�
�	��
��(Autocorrelation Coefficient) 

 ��1.�����	���&$��1*.
$+��
��	�(Random Error) 

 

%&�	'
		��4�
#
����&
.3��1.
   H0

   H

 :  � = 1 

1
 

 :  ��� < 1 ; -1< � < 1 

����&
.3� 
		��4�
$�/
����&
.3����������'*������( xt) 
�-
	'�Unit Root 

��1.2	�
�	��8�����!�2&,������� � 8,��.	��3  H0 �������2&,���� xt 	'����!�2	�
�*��( Non - 

Stationary) ��1.�xt 	'�Unit Root ���8,��.	��3 H1 �	�����	��� xt ��	'����!�
�*��(Stationary) 

��1. xt 2	�	'�Unit Root ������$��'�3$�'�3���� t - statistics �'*���
�!2&,��3���#
������Dickey-

Fuller ��
�	��8�@�$
�
		��4�
2&,��
&�����������'*
��	��&
.3	'����!�
�*����1.$�/
�

Integrated of Order 0 ��
&,�� xt

 

 �  I(0) .����2��5��	����&
.3
'-
�	��8���2&,.'�����
�*�7�*�
#�,��$�	1.
��3
	���0,��3
������1. 

#��,� � = 1 + � ;  -1 < � < 1      (2.2) 
 

%&��'*� �  �1.  ����	�$�.�� 
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��2&�,�     xt  =   (1+ �� xt-1 + �t

    x

     (2.3) 

t  =    xt-1 + � xt-1 + �t

&��
�-
       �x

     (2.4) 

t   =    xt- xt-1 = � xt-1 + �t

 

   

 (2.5) 

��2&,
		��4�
����&
.30.��Dickey-Fuller #�	���1. 

   H0

   H

 :  � = 0    (Non - Stationary) 

1

��� � #

	����	'���$�/
�3��
&������ #

	���	'���
,.������1�&��
�-
 
������
�&
.32&,����$���@�$
�  H

 :  � < 0   (Stationary) 

0 :  � = 0 7�*�$�����3$�/
����.	��3�H1 :  �  < 0 �	�����	����� < 1  

����xt 	'�Integration of Order Zero ��1. I(0)
�*
�1.�xt 	'����!�
�*��(Stationary) ���8,�$��2	�


�	��8�@�$
��H0 : �  = 0 2&,��5���	�����	����xt
$
1*.����0,.	?�.
���	$����!�$���� t 	'
��

�	��
����30,.	?�.
���	$����   !�$����

t-1 ��-��������'* ��������
�%
,	  &��
�-
��,��Dickey- Fuller �������!�
	���8&8.�2&,�3��?��33
�'*���������
#
����&
.3���	'�Unit Root ��1.2	��7�*��3 
	���&�������2&,��� 

 	'����!�2	�
�*��(Non-Stationary)  

 

              �xt         =     � xt-1 + �t

   �x

     (2.6) 

t =     � + � xt-1 + �t

   �x

    (2.7) 

t =     � + � t + � xt-1 + �t
 

   (2.8) 

8,��xt

8,��x

 $�/
�
�$&�
$+��
��	7�*�	'���	%
,	$.'����*�2���	.�?�&,���( Random Walk with 

Drift) �33����.���$�/
2���	
	����'*�(2.7) 

t

�����-�
		��4�
0.�����&
.3�Dickey-Fuller $�/
$+�
$&'���'*�����	���,�0,���,


��
����&
.3%&�#+,����&
.3�Augmented Dickey - Fuller (ADF) %&�$��*	03�
���8&8.�

 $�/
�
�$&�
$+��
��	7�*�	'���	%
,	$.'����*�2���	.�?�&,���( Random Walk with 

Drift) ����	'�
�%
,	��	$���$+��$
,
�( Linear Time Trend) �33����.���$�/
2���	
	����'*
(2.9) 
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#
���$.� (Autoregressive Process) $0,�2�#

	����7�*�$�/
�����,�>;�� #
��!'�'*#+,����&
.3
0.� Dickey- Fuller ��,�����Durbin Watson �*��  ���$��*	03�
���8&8.�#
���$.�
�-
������
�&
.3 ADF �����#�,2&,����Durbin Watson $0,�#��,�2����#�,2&,
	���#�	�   ������$��*	�Lagged 

Change $0,�2�#

	�������&
.3� Unit Root ���&,�
0��	1.�7�*���
��'*#
�$0,�2�
�-
����
�
�
Lagged Term (p) ��0�-
.�?���3���	$�	��
	0.�0,.	?����1.
�	��8#
����
�
� Lag 2��
�����*�
2	�$��&�>;�� Autocorrelation &��
'- 

 

None    �xt =     � xt-1 �
�

p

t 1
 + �i �xt-i + �t

Intercept   �x

   (2.9) 

t =     � + � xt-1 �
�

p

t 1
 + �i �xt-i + �t

Intercept&Trend   �x

  (2.10) 

t =     � + � t + � xt-1 �
�

p

t 1
 + �i �xt-i + �t

 

 (2.11) 

%&��'*��    
      � ,� ,� , �     �1.�   �������	�$�.�� 
        p      �1.������
�
0.��Lagged �'*#
�$0,�2�$�1*.��,�>;���Autocorrelation #
������
��	 

       �t
���
�
0.��Lagged Term (p) �'*$��*	$0,�2�#

	���0�-
.�?���3���	$�	��
	0.����

����
�������1.$��*	���� Lag #

	����
����
��
0.�������	���&$��1*.
��2	�$��&�>;��        

Autocorrelation 

�������1.����������	���&$��1*.
$+��
��	 

����&
.3
		��4�
��-����'�Dickey-Fuller Test (DF) ������'�Augmented Dickey-

Fuller Test (ADF) $�/
����&
.3����������'*�&
.3  (xt) 	'�Unit Root ��1.2	��7�*�
�	��8��2&,
������ � 8,������ 	'���$�����3�0 �
&�����������xt

��!'�'*����&
.3
		��4�
�3���  x

 
�-
	'�Unit Root 7�*��&
.3
		��4�
2&,%&����
$��'�3$�'�3���� t-statistic �'*���
�!2&,��3���#
������ Dickey-Fuller (Dickey-Fuller Tables) 

(Enders, 1995 : 221) 7�*�����t-statistic �'*
��	��&
.3
		��4�
#
������?��33
�-
���,.�
��	�
$��'�3$�'�3��3������Dickey-Fuller ��&�3����=�8,�
�	��8�@�$
�
		��4�
2&,��
&�����������'*

��	��&
.3$�/
�Integration of order 0 ��
2&,&,���x ~ I (0) 

t 	'�unit root 
�-
�,.�	'�����xt 	�����
Differencing 7�*�
�	��8�@�$
�
		��4�
�'*���� xt 	'���	2	�
�*�0.�0,.	?�2&,�$�1*.���3����Order of 

Integration (d) ���.�?�#
��&�3#&�[xt ~ I (d) ; d > 0 ] 
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2) �����"��#���"��#*����������'*�	������*� (Cointegration Test) 

 $�/
����&
.3���	
.&��,.�0.�0,.	?�.
���	$���0.��������?�#&=����	'���
$��1*.
2���'*
.&��,.���
��1.2	��$
1*.���� ��#�,���	$+1*.�'*���#
���������,����������
$���4��������	'���$��1*.
2��#
������#&�������
�*��'*
.&��,.���
��	,���#
����
�-
                             

���	$��1*.
2��0.�������&�������.����	'���$��1*.
2���'*2	�
�	��8����
&�������'*�
�
.

2&,�5��	�������$�/
����&
.3���$��1*.
2��0.�������	���&$��1*.
�( Error Term) 0.�
	���
���	
�	��
����������������'*�,.�����&
.3�7�*�	'$�1*.
20&��
'- 

- ������.
���	$����'*�,.�����&
.3��,.�	'��!
	3���0.����	
�*�0.��������
��1.8,��������'*�,.�����&
.32	�	'��!
	3���&�����������$��'*�
����0.��������!����&�3�'*
#&=�(d) 	'��!
	3���0.����	
�*���,�������2&,����������.
���	$���&�������	'���$��1*.
2���'*

.&��,.���
#
������� (Cointegration) 

- �	,����������'*�,.�����&
.3��2	�	'��!
	3������	
�*�.�?��5��	����8,�������	

���&$��1*.
 (et

 

) 0.����	
�	��
��$+��$
,
���0.��������?�#&=�	'��!
	3���0.����	
�*��$��

�	��8�����2&,������������-�
.�	'����!����	
�	��
��$�/
�Cointegration 2&, 

�,-	��	/	�����"��%Cointegration ���,��0�6!	�- 

1.��&
.3������#
�33����.����	'����!�$�/
� Non-Stationary ��1.2	�%&�#+,
���'����ADF Test %&�2	��,.�#
�������'*�(Intercept) ����
�%
,	0.�$����(Trend) 

2.�������	�!
	���8&8.�&,�����'���������
.�
,.��'*
�&�( Ordinary Least 

Square : OLS)  

3.�
��
��
�'*$��1.�( Residual) ���������	�!���#
0�-
�.
�'*� 2�	��&
.3�?

���?�$�1*.#�,���3���
��
�'*$��1.	'���	
�*���1.2	���	
	���&��
'- 

  �et =    � �et-1 + vt

%&��'*    

     
 (2.12) 

  �et, �et-1   �1. 
��
�'*$��1. (Residual)�!�$����t ��� t-1��'*
��	���
	���8&8.�#�	� 

  

  v

�    �1.  �������	�$�.�� 

t
 

    �1.   ������	���&$��1*.
$+��
��	 
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		��4�
�'*#+,#
����&
.3�Cointegration 	'&��
'- 
H0 �̂ :  = 0    ( No – Cointegration ) 

   H1 �̂ :   < 0   ( Cointegration ) 
 

 ����&
.3
		��4�
$��'�3$�'�3���� t - statistics �'*���
�!2&,���.����
��

0.� �̂  / S.E. �̂  2�$��'�3$�'�3��3������ADF test 7�*�8,�����t - statistics 	������������(�0.��
MacKinnon !���&�3
��
����;�'*����
&2�,�  �5��$�/
����@�$
�
		��4�
����  (Null Hypothesis) 


��2�
?�0,.
����'*����������'*	'����!�2	�
�*��( No-Cointegration) #

	���&�������	'����!����	
��
2�&,����
�(Cointegration) 

.����2��5��	�8,�
��
���,����1.
��
�'*$��1 .�(Residuals) 0.�
	��� (2.12) 2	�
$�/
�white noise $���5��#+,����&
.3�ADF ��
�'*��#+,
	���  (2.12)  %&�
		������vt

 

 0.�

	��� (13) 	'
�
�	��
��$+��.�
&�3 (Serial Correlation) $���5��#+,
	���&��
'- 

  �et =    � �et-1 �
�

p

t 1
+  	i �et-1 + vt

  	

    

 (2.13) 

i
 

 �1.��������	�$�.��  

����3���  - 2 < �̂  < 0�$��
�	��8
���2&,����
��
���,����1.
��
�'*$��1.�

(Residuals) 	'����!�
�*��(Stationary) ��� yt ����xt ��$�/
�CI(1,1) %��&
��$�����
	����'* (2.12) 

����(2.13) 2	�	'��
�
��
��&�( Intercept Term) $
1*.����� et

 

�$�/

��
���,����1.
��
�'*$��1.�
(Residuals) ���
	���8&8.��( Regression Equation )  ( Engle, 1982; Granger and Engle, 1974 ) 

3) �����"��%Error Correction Mechanism (ECM) 

��33����.��ECM �1.��2�������3���$0,�
?�&��� ��#
��������
		��#�,  Yt 

����Xt $�/
0,.	?�.
���	$����'*	'����!�2	�
�*��������������-�
.�	'���	
�	��
��$+��&��� ��#

������������#
����
�-
.��	'���..�
.�&��� ��2&,��&��
�-
�������	���&$��1*.
2����&���
 ��
'-�.��$�/
���$+1*.	�(�����	#
����
�-
�������������$0,�&,����
��%&�����!�
����;0.����
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���.
���	$����'*	'������	��
2�&,����
�1.���8'$����( Time Path) 0.�.
���	$���$����
'-2&,��3
.������������$3'*��$3
..�2����&��� ��#
���������&��
�-
�$	1*.���3$0,�
?�&��� ��#
����
��������$��1*.
2��0.�0,.	?�.
���	$���.����
,.���3�����������,.��.3

.���.0
�&0.�
���..�
.�&��� ���#
�33����.��ECM ����������
�-
�(Short Term Dynamics) 0.�������
#
��33��2&,��3.���������$3'*��$3
..����&��� ���(������&�B����'3�;����������.��'���3?�������
, 2542) 

 

 ���.�����33����.��Error Correction Model (ECM) $�/
&��
'- 
 

 �yt   =    a1 + a2 et-1 �
�

n

m 1

 +  a3 �xt-m �
�

q

p 1
 +  a4 �yt-p + 
yt

 �x

  (2.14) 

t   =    b1 + b2 et-1 �
�

s

r 1
 +  b3�xt-r �

�

v

u 1
   + b4 �yt-u + 
xt

 

  (2.15) 

%&��'* 
              �xt , �yt

             �x

      ��1.������$��'*�
����0.�0,.	?�.
���	$����!�$���  t 

t-m , �xt-r

 �y

  �1.������$��'*�
����0.�0,.	?�.
���	$����!�$����t - m ���� t - r 

t-p , �yt-u

              e

���1.�����$��'*�
����0.�0,.	?�.
���	$����!�$����t - p ���� t - u 

t-1

 


����1.�� 
��
�'*$��1. (Residual)�!�$����t - 1 ���
	������	
�	��
����������

yt , 
xt

 a

���������1.�����	���&$��1*.
0.�������$+��
��	 

1,  a2 , a3 , a4 , b1  , b2 , b3 , b4
          ������'*�  p = 1, 2, 3, …, q 

��1.��������	�$�.�������'*��m = 1, 2, 3, …, n 

����������������'*��  r = 1, 2, 3, …, s 

���������'*�  u = 1, 2, 3, …, v 

 #+,
		��4�
#
����&
.3�ECM &��
'- 
1.    H0 :  a2

   H

 = 0    (2	�	'���	
�	��
����
#
����
�-
) 

1 :  a2

2.  H

 � 0   (	'���	
�	��
����
#
����
�-
) 

0 :  b2

   H

 = 0    (2	�	'���	
�	��
����
#
����
�-
) 

1 :  b2  � 0   (	'���	
�	��
����
#
����
�-
) 
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����������&
.3��.	��3
		��4�
�����( H0) �����
�	��8
���2&,���� xt��3 
yt�2	�	'���	
�	��
����
#
����
�-
�����8,�������&
.3�@�$
�
		��4�
�����%&����� a2 ��1.�b2 

��	'���.�?���������0  8���-1 
���2&,����xt��3 yt

4) �����"����	�&��%(Engle and Granger Causality) 

 	'���	
�	��
����
#
����
�-
 

 �
���&������'�&
.3
�	��8
���2&,&��
'-
		�����	'������.�?��2 �����1.� x 

���y #
����!��'*$�/
0,.	?�.
���	$���8,����$��'*�
����0.�� x $�/
�,
$���0.����
$��'*�
����0.��y ��,��x �5����'*��$��&0�-
��.
 y 
��� ����8,��x $�/
�,
$���#�,$��&���$��'*�
����
#
�y $�1*.
20
.����������,.�$��&0�-
 

 !��������%1 : x �����+���#
������
���y 
�*
�5�1.#
���8&8.�0.��y ��3�'*
���
	�0.� y 
�-
�����'*���
	�0.��x 7�*�����
,��'*$�/
������.�
������'*��	'
��
+���#
���.��3��
0.� 
	���8&8.�.����	'
��
����; 

  !��������%2 : y 2	����+���#
������
���x  $������5�1.���8,� x +������
���y  
����y +������
��� x �5
����	'������.1*
.'��
�*�������1.	�������'*$�/

�$���#�,$��&���
$��'*�
������-�#
�x ����y $����A�
�-

		��4�
�����(Null Hypothesis) (H0

 

) �5�1.�x 2	�2&,$�/

�,
$���0.��y &��
�-
 #
����&
.3��	���'���0.��Engle and Granger (1969) ��������	�!���

	���8&8.�
.�
	���&��
'- 

  yt �
�

p

i 1
   =    �i yt-i �

�

p

i 1
+  �i xt-i + 
t

  y

    (2.16) 

t �
�

p

i 1
   =    �i yt-i +   
t

 

     (2.17) 

�
	����'*� (2.16) �
&����8&8.��'*2	�#
�0,.�����& (Unrestricted) 
��
 
	����'*�(2.17) 

�
&����8&8.��'*#
�0,.�����&(Restricted) 

����
&#�, 
RSSr
                ���
	������8&8.��'*#
�0,.�����&�(Restricted Regression) 

 ���1.� ��3��
��
���,����1.
��
�'*$��1.��������
.��(Residual Sum of Squares)  

RSSur
                ��� 
	������8&8.��'*2	�#
�0,.�����&�(Unrestricted Regression) 

 ��1.���3��
��
���,����1.
��
�'*$��1.��������
.��(Residual Sum of Squares)    

q   �������1.  ���
�
�������'*8?������&..�2��(Restricted Variable) 
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n        ��1.�����
�
����	���.�����'*����������� 
k   �������1.�����
�
��������-��	&���!'�'*2	�#
�0,.�����&�(Unrestricted) 
 

  

 

%&��������&
.3&,�����
8����F - Test &��
'- 
 

Fq,(n-k) )/(
/)(
knRSSur
qRSSurRSSr




  =     

 

  8,��@�$
��H0

 

 �5�	�����	����x $�/
�,
$���0.����$��'*�
����0.��y #
���
.�$&'����

8,�$���,.�����&
.3
		��4�
�����( Null Hypothesis) ����y 2	�2&,$�/
�,
$���0.��x      �,.����
���3�
����&
.3.����$&'����30,���,
�$�'��������
��3$��'*�
�33����.�0,���,
���� x 	�$�/
 y 

�������y 	�$�/
�x $���
�-
�&��
'- 

  xt �
�

p

i 1
   =    �i xt-i �

�

p

i 1
 +  �i yt-i + 
t

  x

    (2.18) 

t �
�

p

i 1
   =    �i xt-i +   
t

 

     (2.19) 


	����'*�(2.19) �
&����8&8.��'*2	�#
�0,.�����&
��

	����'*�(2.19) �
&����8&8.��'*
#
�0,.�����&���,�#+,����&
.3���
8����F – Test $+�
��
 

 
��$��������
�
0.��Lag 7�*��1.�p #

	���$����
'-$�/
���$�0�'*����
&0�-
$.��%&���*�2�
��,���$�/
���&'�'*
�&�'*���������&
.3�!����0.�� p �'*���������
�2 8���3����$�1*.�'*��2&,�
�#����
��������'*2&,	�
�-
2	�.�.
2��2���3���0.��p �'*$�1.�	����&.�.
0.�����&
.3�,
$���
'-��1.�������
���
�	�(z) $�/
�,
$���0.����$��'*�
����0.�� y ���.��	'���	
�	��
����3�x ���'��,�>;��
'-�1.
������8&8.�%&��'*����lag 0.��z ����@.�?����&,�
������.�
��&,�� (Granger, 1969) 

 

2.2 ���"��7*���	���,�������������� 
 

!8��*,�

$%9'�,����%(2541) �����8��.������0.�
%�3�����$��
���
%�3����������'*	'
������3��.�������	����	0.����$��2���%&�#+,�?��33
	���$7
������
����$���������
0,.	?�����C���������C�� .�. 2503 – 2539 �3�������$��'*�
�����������	����	8?�����
&%&�
���$��'*�
����
%�3�����$��
���
%�3����������%&�2&,$�1.�#+,���	�!$��
#
���	�	��
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��,��$�/
������������$��
����#+,0
�&0.��3���	�!$�/
�����������������.�����������
0.��Granger Causality �3����
%�3�����$��

�-
$�/

%�3���'*	'���
���� ���#
0!��'*
%�3��
�������2	�	'���
���� ���$	1*.�����!����
�	���
����B0.�������������$��
�3�������

�	���
����B	'����*������� 1 �
&����������30.�
%�3�����$��
�'*	'����.�������	����		'���

,.��.��	'
�$���	�������	2	�
	3?�!�0.����&$��
���#
���$��2�� 

 

9,��,:	$%	����	�"�
$��*%(2544) ������33����.�$���4	���
�����3 ����43��0.����$��
2���$�1*.#+,#
��������!�4�
�����������0.���43���%&�#+,$��
��� cointegration ����error 

correction ��	���'���0.�� Johansen %&��33����.��'*#+,#
���������2&,����
��
0.���������
���2&,���������.�
'-
����!�0.���43���
.����
'-��������%���
�,�����2&, ��'.���0.�
��43��&,���������������3�����������	����	����C0.���43��	'���	
�	��
�����������3
���2&,���+�+������&�+
'�������� �!"�	����	 ��#
���$��$31-.��,
�
��
���2&,��� ��'
.�����������$ �	'���	
�	��
��#
���������3�����
4�
 ��'�#
����C���2&,.1*
=�	'
���	
�	��
��#
���������3���2&,���+�+������&�+
'�������� �!"�	����	 ��#
���$��
$31-.��,
$+�
��
�#

��
0.������.�
'-
����!��3�������?, ��#
���$��
����0.���43����-����
�C������2��	�
	'���	
�	��
��#
���������3����?,$��
����������$��
����0.���43������#�,

�
$+1*. ��#
���$�������43��������2&,0.���43���
��
����?,$��
����������$��
����0.�
��43����-�����C������2��	�
	'���	
�	��
�����������3����?,$��
 ��#
���$��
����0.�
��43������#�,
�
$+1*. ��#
���$�������43��������2&,0.���43���#

��
0.���������
%���
�,�� ��'.����3����&�+
'�����*���0.� ��'������	'�
�%
,	$��*	0�-
�0!��'*&�+
'�����*���
 ��'���.,.	��� ��'����,�����������$��	'�
�%
,	�&�� 

 

	���	�;%	�������������9%(2548) 2&,��������	
�	��
������������#+,����0.���43����3
���$���;$��3%����$���4���0.����$��2����-�#
����
�-
�����������%&�#+,������#
�����
�1.����#+,����0.� ����43������� �!"�	����	 ��#
���$���
�&
��
���#+,����0.���43����.
���� �!"�	����	 ��#
���$���������� �!"�	����	 ��#
���$����.���
�
���+���0.�
���$���$�/
0,.	?������ ?	��33����C���-�����C�2493 – 2546 

����&
.3���	
�	��
�������������#+,����0.���43����3���$��3%����$���4���0.�
���$��2��
�-
�2&,��������	
�	��
���#
�2 �?��33�%&�.�����?��33���	
�	��
���0.��  

Wiseman and Peacock(1996) �1. 

Gt  = b0 + b1Yt + et 
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����?��33���	
�	��
���0.��Musgrave(1969) &��
'- 
G/Yt = m0 + m1Y/Nt + z

7�*�#
�����������-�
'-2&,�&
.3��-�
.��������&��
�-
���2&,
	���$��*	��1. 

t 

Yt = B0 + B1Gt + E

����    Y/N

t 

t = M0 + M1G/Yt + Z
 

t 

%&��'*�� Gt

Y

   =  natural logarithm 0.����#+,����0.���43�� 

t

G/Y
  = natural logarithm 0.����� �!"�	����	 ��#
���$�� 

t

��	 ��#
���$�� 

  = natural logarithm 0.�
�&
��
���#+,����0.���43����.���� �!"�	�� 

Y/Nt

e

  = natural logarithm 0.����� �!"�	����	 ��#
���$����.�
 

t, Et, zt, Zt = 

b

������	���&$��1*.
 

0 b1 B0 B1 m0 m1 M0 M1 = �������	�$�.�� 

7�*��&
.3���	
�*�0.�0,.	?�&,�����'����&
.3� unit root �3���0,.	?��'*
��	��&
.3��-��
4 ���2	�
�*�����	'����!�0,.	?��33� I(1) !���&�3
��
����;�'*� 0.01 $	1*.�&
.3���	
�	��
��
����������#+,����0.���43��������� �!"�	����	 ��#
���$���%&������������#+,
�33����.��Error Correction Mechanism ����@������#+,����0.���43��������� �!"�	����	
 ��#
���$��	'���	
�	��
����
��-�
.�������#
����
�-
����$	1*.�&
.3���	
�	��
��#
����
���&,���$��
���Cointegration ����@�����-�
.��������5	'������3���$0,�
?�&��� ��#
���������-�

.�������&,��$+�
$&'����
��������
�-
2&,
��$.���������-�
.����	��&
.3���	$�/
$���$�/
���
&,�����'�Granger Causality �3���	'���	
�	��
��$�/
$���$�/
����-�
.��������7�*�$	1*.�&
.3��3

�&
��
���#+,����0.���43����.���� �!"�	����	 ��#
���$��������� �!"�	����	
 ��#
���$����.���+���
�-
��5#�,��$+�
$&'����
��-��	& 

 

"���9�$%=������
���$% (2549) ��������	
�	��
����������������
������$���;$��3%�
���$���4���0.����$��2����-�#
����
�-
�����������%&�#+,���'� Cointegration ����
ErrorCorrection Mechanism ��	���'���0.��Johansen and Juselius ���0,.	?������ ?	����2��	�

�������2��	�
���0.��C�� .�. 2539 8��2��	�
�'*�4 �C��.�. 2546 
�,���33����.��'*�
&�
���	
�	��
������������� �!"�	����	 ��#
���$���	?�����������
� ��'����#+,����0.�
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 ����43������
��..��������	�!$��
#
��33$���4����7�*�����
��������
��	$�/
�������

 ��$.�+
����������
 ����4��������&
.3���	
�*�0.�0,.	?�%&����'� Augmented Dickey – 

Fuller test �3����0,.	?�������	'���	
�*��'*.�
&�3���	
�	��
��0.�0,.	?�$&'����
�'*�I(1) ����&
.3
���	
�	��
��#
�33����.��3����	?�������
��..�	'���	
�	��
����3���	�!$��
#
��&�3
?��
&��
�-
���2	�
��������	?�������
��..�$0,�	���$������#
�33����.��7�*�������&
.3
���	
�	��
����������������
��	��������
%&� ��$.�+
�����������
 ����4��3���
$���;$��3%����$���4����3�����?��33���	
�	��
���'*$�	��
	0.��33����.�$�	1.
��
��1.�2	�
	'������'*��1.�
�%
,	$����%&�	'���	����lag $�����3�3 ���$��'*�
�����������
0.� ��$.�+

	'����.���$��'*�
�������� �!"�	����	 ��#
���$��#
������$&'����
	���'*
�&��.���	��1.
���$��'*�
����0.��������
0.� ����4�����������
��	���	���&�3�$	1*.�&
.3������3���
#
����
�-
$0,�
?���������3�������	$�5�#
������3���0.����� �!"�	����	 ��#
���$��0.�
�������
 ����4	'����,.���	���'*
�&��.���	��1.��������
��	�����������
 ��$.�+
�
��	���&�3�7�*�
�	��8
���2&,�����������
 ��$.�+
	'���	
�	��
����3���� �!"�	����	#

���$��	�������������
 ����4�&��
�-
��43��������
��$
��	���

�3

�
#�, ��$.�+
$��&���
����
	��0�-
$�1*.���#�,$���4���$���;$��3%���.2� 

 

��?,��$%�����@�	��% (2550) �������&
.3���	
�	��
������������#+,
%�3���������
������$���;$��3%����$���4���0.����$��2�����'��������#+,
	���8&8.�%&�$��
��%�
.�
��$��+�
���$..��$�.���.$��+�
��	���'���0.�%��D
$7�
����?$7$�'�
 0,.	?��'*#+,#
��������
$�/
0,.	?������ ?	����2��	�
�������2��	�
���0.��C�� .�. 2539 8��2��	�
�'*
�	0.��C�� .�. 

2547 ������&
.3���	
�	��
������������� �!"�	����	 ��#
���$����3���#+,����0.�
��43����3����8,���43��	'���#+,����$��'*�
����2�� 1 �,�
3��������#�,���� �!"�	����	
 ��#
���$��$��'*�
����2�#
������$&'����
� 0.0381 �,�
3�������&
.3���	$�/
$���$�/

������������#+,����0.���43��������� �!"�	����	 ��#
���$����3����$�/
���	
�	��
��
�33
.���������1.����#+,������	0.���43��$�/
�������
&���� �!"�	����	 ��#
���$��
���#
���
.�$&'����
���� �!"�	����	 ��#
���$���5$�/
�,
$���0.����#+,����0.���43��
&,��������&
.3���	
�	��
������������$�53 ��'0.���43����3���� �!"�	����	
 ��#
���$����3����$�/
2�#
������$&'����
�%&����	'���$�53 ��'$��'*�
����2�� 1 �,�
3��
�����#�,���� �!"�	����	 ��#
���$��$��'*�
����2�#
������$&'����
� 0.1695 �,�
3���7�*�
2	������	
		��4�
�
�$���.��$
1*.�	������������(�$���4������$��2��
�	��8$�53 ��'2&,
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$��*	0�-
���
����#�,���� �!"�	����	 ��#
���$��$��*	0�-
�����&
.3���	$�/
$���$�/
��
����������$�53 ��'0.���43����3���� �!"�	����	 ��#
���$����3����$�/
���	
�	��
���33

.���������1.����$�53 ��'0.���43��$�/
�������
&���� �!"�	����	 ��#
���$������#

���
.�$&'����
���� �!"�	����	 ��#
���$���5$�/
�,
$���0.����$�53 ��'0.���43��&,�� 

 

�9���� �9@-�"����
 (2552) �������&
.3���	
�	��
������������#+, ����0.���43�����
���$���;$��3%����$���4���0.����$�� #
$.$+'�����
..�$A'��#�,� ���'��������#+,$��
��         

%�.�
��$��+�
  0,.	?��'*#+,#
��������$�/
0,.	?������ ?	����2��	�
�������2��	�
���0.��C�
�.�. 2540 8����.�. 2551 �������&
.3���	
�*�0.�0,.	?�%&����'�Augmented Dickey – Fuller 

test �3����0,.	?�������	'���	
�*��'*.�
&�3���	
�	��
��0.�0,.	?�$&'����
�'*� I(1)����$�,
0,.	?����
#+,����0.���43��.�
%&
'$7'���'*
�*��'*� I(0)����#�,2	�
�	��8�&
.3� cointegration 2&,�
��
�����
�&
.3���	
�	��
��$+��&��� ��#
����������-�#
��!'0.����$��2���	�$�$7'�����:6����6

��
�3�������#+,����.���43��������$���;$��3%����$���4���0.����$�� 	'���	
�	��
��$+��&���
 ������������-�
.������� ��������3���$0,�
?�����
�-
�Error Correction Mechanism ��!'�'*���
#+,����0.���43��$�/
�������,
������� �!"�	����	 ��#
���$��$�/
��������	
�-
��3���
���$��2�����:6����6

��	'���	
�	��
��#
����
�-
������!'���� �!"�	����	 ��#
���$��
$�/
�������,
��� ���#+, ����.���43��$�/
��������	�3������-� ���$��2���	�$�$7'�����
:6����6

��2	�	'���	
�	��
��#
����
�-
�������&
.3���	$�/
$���$�/
������������#+,����
0.���43��������� �!"�	����	 ��#
���$����3������$��2����3���	'���	
�	��
���33
������$&'����1.���#+,����0.���43��$�/
$���������� �!"�	����	 ��#
���$��$�/
���
���$��	�$�$7'���3�������#+,����0.���43��������� �!"�	����	 ��#
���$��	'
���	
�	��
���33
.��������
��
���$��:6����6

���3������#+,����0.���43��������� �!"�
	����	 ��#
���$��2	�	'���	
�	��
����
 

 


